B

— B = BLUERASE
454107 2AKE
B/ (BA)

(BRI RF 00

7 H X 4 F#

HEEOD—8H 2,200
BRI FHE BEEEEH 5,500
(RENEEEFRUN) EEEFREH—&# 1,100
EFFRIE— 1,100
< R s FEQ—> 22,000
?:E”E*‘f“’“i . |5ThE%RE 22,000
Hi - ) B2 EmEw 33.000
RUBEFHH B EEE 55,000
BHAHZEE (LRERBEELOFMIRERICOVLTIREC) 11,000
EEERICHRIZEBEDRERVESH 5,500
WXNBRMERE GRRRTE - 185) 5,500
RAETAOREE GR< HARE) 3,300
LUEEOEIRIIASE - NFFBIAE 18 2,200
WMEFELHE 138 11,000
EREETAESEERTHRTRN 1£. RIL) 1,100
EFOREITIRRICET 3 EHRIZEHFHE 1,100
| ®EEER® 3005ARRE 11,000
ﬁ%ig?f"/g:if& mE 1,00075 A5k 33,000
mL 1,0005MALE 55,000

- REEAFF IR <
R TEFIIEEEOMBIRZFICHE D —BRULER ERFIIR <

F H OB
[#RA F #0k ]
E 8B X % FHE
B 0O HEE 550
(HBaIRA - MT - .- |BIEH’
FDEEL) T YER G ARRERRE) 880
" R W 330
ATM HemEn—F ' & 660
(RAHE) L 440
R o= ' = 770
FIARZFEE / 1228 1,100
ABaHiRA LHEE 330
ftb 1T 550
o R—IE R
FB-HB- IB HEE AXIE 330
ftb 1T 550
& 0O LeE g3 S
"5 - E5 (BAIRA - MT - FDASE) ft 1T 880
RiA , L2E it
FB-1B ® 110
CZ L SR WAVE DB/ 4= 5% 35§ 5
E & X % FEEL
BAIlB @ 220
sa1B LD | F¥ 74D A/1ROE 1,100
! @ | (285l 2.200
HB @ 1,100
- 2 | (VALUX) B/1EE 5.500
® | (AnserDATAPORT) 11,000
DiER, BB
Q#eIRA. HBE5/EERA. AEOERSE. AHE5|EH
QFEEOEIRSE
(8% L F#8]
I H A B FEUEL
o — LHEEE 1,100
AR L e 1.100
e L e BT 1,100
MALFRHRAERL e ER 1.100
o 1) e LS5 1,100
[CD - ATM FIEFEHE msizicoz) )
ZCHBR//H—FES ha 11222
£ B F4605F T F1L6BFLUPE
T EH FR2B5F T F 12205 LU
HiER - B — £ 5[
LEEH—F 0 0
REENEHREE 0 0
REENEHESEUNDOEREEA—F 0 110
RIESREEDH— F 110| 110~220
(HEASEEFHA) 110~220] 110~220
[AESWmEFHE - FEALSFHE - IEESBRILEFHH])
15 H m FHE
OEmEF5F 1~50#% R
EEASFHH 51~1,000%2 550
ot 2N E Xt oI 1,00180~ 10004218 % %5 550

(AE@EBEFHEEHICOVLT]
F—&£B~AORBRIIER FFH~OTBRED)
FEEESEILEFHERICOWLWT]
IRDGZE, AHRUNOEEBIEE (RES) H»S5IKMLULEH B EICFHR2EEEX T,
*FAHPICERELEEZ I NE5EIE. IHOGHKE (AEEEFHH +EEASFHR+
BEEHRILRFER) oFBRI%2EZET,

[BERITFEHE]

"7 H A B FHE

INDFEIR 11 5,500

) 1t (5080 5,500

HIRFH IR 1M (258) 2 750

. 1t (504) 5,500

REFHR 1 (258 2,750

EIREUNIES 18 1,100

TIVEFRRK 1K 1,100

< IVE O EENR EI B @A 18 3,300

#RE 1:8 660

o 158 440

s BEBIRIT (FEQ—>) 1@ 440
RRIAE =3 18 1,100
FRES 1:8 1,100
(BE&iEAR) 1:8 3,300

RS ENL = 1@ 1,100

BAEREZS 1@ 1,100

NG| B O ERL k3R 104E LA 1,100

(YEFEL DEIFLH B LA I ER) 105#8 3,300

BIREEESE - H— FRITFEHR]

. _ | o=vAa—-F R
iR - 5EE - HERES 1,100
Fryah—F 1,100

BT A—>A—F 1,100
IBEE#HFH—F 1,100
RIEZETIRE - Tt 1,100

[TAZTWH—EXRFH#HF ]

E SHERT | HEEHT fthiTEH T
FETHEK 1,100 330 660
FIERHEEK 1,100 330 660
HEFEE LSS 1,100 330 660

E | X 4 P CHH EmRIT
FIRER (BFIRR) — 3,300
et 330 550
EHEECEREEK — 2200
BOREE SR EES 220 440
XILF RO EREEK 220 440
IR EEIRIRES — 3,300
AERBEERERIE 660 660
Lok : 2Ry — 2,200

e - |BERGAR| — 4,400

RERRARET  hmmaR| 1.650

[REEL F 58]

E H FHE
LEEHES EIBEAS) g

B LUEEXRZE 330
fhiTdH T

EBIEL GF) 1,100

[ Z ot F#4d)
IH H B [ FHR
N 14 66,000
BHEE BRAASRIMIC 5,500
1EE X) 13,200
; e L B 1€/ (XK) 9,240
158 () 6,600
BEE (REXE) 15/ (X) 11,000
. 15/ () 20,350
£88HEEE (\LBEXE) 1% () 15,785
EaEHa 5,500
L EEFE & O FE R % 11,000
ISR — REBEFHER 1,100
BRIGAEEFHE 2.5/1,000+ 4 EH: (RIELE2,750)
FAUAOEEEFHE RS1AARET2EULRFIA) 1,320

(F) BFREFAFSINEREREOFH -

IMIF - BFRIENRNGSFEF




